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1§91 yes1 uy 9 36y F) 1. This question booklet conlains 36 pages.
2. B T T & AR qior ¥ ) ¥ of B 3md arw 2. This question paper comprises four parts. Make sure
an) et LI, e Vel < ‘P:‘m awt s ot | lar you have all the tour Parts I, I, 11l and IV with you. See
W3 TRy west afer spor & aity sior v A 25 geq that Part I, Il and IIl contains fifty questions each and
Edl part IV contains 25 questions.

3. Wt 175 weaf & Fuv ¥ 3. Answer all the 175 questions.

4. U993 4R ueds & B an dwifer 3a (1), 4. On the Question Paper for every question, there are
(2). (3) 31 (4) Ro o0 &) Faer v o Bs Ay four options, ie., (1), (2), (3) and (4). Write the serial
el wnEE ?, Iy @1 3R wais k=t 3y number of the answer that you think correct in the box
aof 7 R | et et @ arer wEs K given at the right side. Use only ink or Ball point pen.
ImteT @9 | ARer wr 3vter afiia 21 Pencils are not allowed.

arexvr - Fr=fiRaa Ff @ ar-diaes @t 2 Example : Which one among the following s a supporter

of combustion ;
(1) &1dT edanmnss (1) Carbon dioxide
(2) sitaedlsr (2) Oxygen

(4) AirgelsTT (4) Nitrogen
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Sterast
PHYSICS

Part-l

Q. {’_1“, I the verlie of 'g' 2t a place decreases by 2% then

the height of Ha column in a harometer—

(1) increases by 2%
(2) decreases by 2%

(3) remains unchanged

(4) None of the above. , ]

Q. 2. The area under velocity-time graph represenlts -

Q.

(1) acceleration of the body
(2) velocity of the body
\}Z)/dislam:a covered by the body

(4) None of the above l

3. A car travels with a speed of 60 Km/h for an inter-
val of 30 min. there after it travels with a speed of
80 Kmv/h for next 30 min. Its average speed for the
enlire trip will be— o +490

(1) 75 Km/h e

of21 150 Knvh -

(3) 30 Km/h

(4). 45 Km/h lj ]

4. An arlificial Satellite completes its one revolution

round the moon in a circular path of radius 3600
Km. in 20 hours. s linear speed in m/s will be—

(1) 21 mis O N A s
oSN oWy 36 O

aﬁta mis P Ty

(3) 431 mis . i 26QTT

< Vaq D nlxn'_llil:-( : o
(4) 134 mis |, : :’
ICCT

5. The relation belween linear speed and angular

speed of a body is given by~
(1) v = r’w
(2) v=rw

(3) v*=wr
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(1) w=m(g-a)
(2) w=m (g +a)
(3) w=mg
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Q. 10.

Q. 11.

Q. 6. “Everyaclion has equal and opposile reaction’”. This
law was given by-

(1) Galilio

(2) Rutherford

(3) Newton

(4) De-Broglee il
. A force of 10M produces an acceleralion
of 10 m/s*in a body of mass m, and 5 m/s®
in another body of mass m,, what will be the

acceleration if both the bodies were tied
together-

(1) B mls*
(2) 35 mls?
(3) 10 m/s®

|

(4) 5 m/s®

Q. 8. Two bodies of masses m, and m, have equal mo-

menta. The ratio of their Kinelic Energies will-
m, = m,

(2) m, :m, p = \’?J‘ﬂb(
m
; ' m:K( K

(4) <m, : ¥m,

om k
. The apparent weight of a person of mass m, in an
elevator accelerating upwards with an accelera-
tion ‘a’, will be—

(1) w=m(g-a)
(2) w=m(g +a)
(3) w=mg

(4) w=ma

The SI unit of mechanical Equivalent of heat is—
(1) Joule/calorie
(2) Calorie

(3) Calorie x time

(4) ergl/calorie

When a horse pulls a cart, the force that helps
the horse to move the cart forward is the force
exerted by—

(1) The cart on the horse
(2) The ground on the horse

(3) The ground on the cart

(4) The horse on the ground
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(1) er=r

(2) ar==r
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# ga oirelt & aa ae 8 Kgwt Wi erfdt 21
avg "R I el #OT (g = 10 mis?f-

(1) 10N
(2) 15N,
(3) 20N
(4) 25N

feeedt goer st @ arafees, anwr F azr,
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(1) 2F &5 dies
(2) F el 2F & mear
(3) 3111 %

L]

(4) & vd F a5 e

Q. 12. Hypermetropia is corrected by using-

Q. 13.

Q. 14,

Q. 15.

Q. 16.

(1) Concave lens
(2) Convex lens

(3) Plano convex lens

]

(1) directly proportional to temperature

(1) Concave convex lens

Velocity of sound waves in a gas js—

(2) inversely proportional to temperature
(3) direclly proportional to square root of temperature

(4) inversely proportional to square root of lemperature

The refractive index of a medium is—
(1y B= =7
{2) o= =

@) u=oaer

b

) n
The value of acceleration due to gravity at the cen-
lre of the earth is-
(1) Zero '
(2) Infinite

{3). 9.8 m/s?

(4) 10 m/s?

o

A spring balance shows the weight of body 10 Kg.wt
in air, when the body is completely immersed in a
liquid it shows 8 Kg.wt. The houyant force acting
on the body will be (g = 10 m/s?)-

(1) 10N
(2) 15N
(3) 20N
(4) 25N

e

- To get an enlarged, inverted, real image of an

object using a convex lens the object must be
placed al-

(1) Beyond 2F
(2) belween F & 2F
(3) Al

[ ]

(4) between Pole & F
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Q. 18.

In which of the -loll:)wing final image is cieol
(1) Simple microscope

(2) Compound microscope

(3) Astronomical lelescopu

(4) Ratina of eye

SONAR is based on—
(1) Reflection of sound waves
(2) Reflection of light waves

{3) Refraction of sound waves l _’

The magnetic fiold inside a curent Ganying
solenoid-

(4) Refraction of light waves

(1) is Zero
(2) decreases as move lowards ends
(3) increases as inove towards ends

(4) none of the above

N

The working of "optical fibre" is based on the
principle of-

(1) Total internal reflection
(2) interference

(3) Deffraction
———- ==

L - |

The time period of Geo-stationary Satellite is—

(4) Polarisation

(1) 365 days
(2) 24 Hrs
(3) 7 days

(4) 30 days

=

. 'Scuba’ is used for breathing in—

(1) Space
(2) Ship
(3) Under water

(4) At high altitude
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Q. 24. 'Solar Winds' originate from-

Q. 25.

Q. 26.

Q. 27,

Q. 28.

(1) Mars
(2) Mercuy

(3) Earth's almosphere

L]

(4) Corona of The Sun

The length of a resistor of resislance 4 Ohm is in-
creased lwice, its new resistance will be—

(1) 16 Q

(2) 802

(3) 320 _

4)4Q :
A galvenometer can be converted inlo a voltmeter

by putting a-
(1) Low resislance in Paralle!

(2) High resistance in Series

(3) Low resistance in Series

(4) High resistance in Parallel

The electrochemical equivalent of a material de-
pends on—

(1) The nature of the material

(2) The current through the electrolyte containing
the material

(3) The amount of charge passed through an
electrolyle

(4) The amount of this malerial present in the

electrolyte D

A prolon projecled towards easl, is deflected io-
wards north in a magnetic field. The direction of
magnelic field will be—

(1) Towards south
(2) Upwards
(3) Downward

(4) Towards west

o]
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Q. 29. Transformers are used--
(1) in D.C. ciicuils only
(2) In AC. cireuits anly
(3) InA.C.and D.C_ circuils both -
(4) None of the above I » —}
Q. 30. Aslone lied with a string moves on a circular path,
if the strings breaks suddenly, lhe stone will go-
(1) Towards the centre of the circular path
(2) Falls down

(3) Along tangaent

(4) None of the above [ : _]

Q. 31. Which of the following physical quantities do not

change in planclary molion--
(1) Angular speed
(2) Speed

(3) Kinelic energy =
(4) Angular momentum ' _____ |

(@ A baromeler shows 56 cm of [1g column in an el

evalor (lift) which is accelerating upwards, the pres-
sure exerted by the air in the elevator will be—

(1) 56 cm of Hg column
(2) Less than 56 cm of Hyg column
(3) Mor= than 56 cm of Hg column

(4) Zero I:___

Q. 33. In a slanding or slationary wave—

(1) The alternate antinodes are in phase

(2) Allthe particles of the medium vibrate in same
phase

(3) All the antinodes vibrate in the same phase

(4) None of the above

Q. 34. The volocity of light depends—

(1) On the elasticity of te medium
(2) On inertia of the medium

(3) On both

(4) Neilher on elasticity nor on inertia | ‘
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Q. 35. To increase the angular magnification of a simple

Q. 36.

Q. 37.

Q. 39.

Q. 40.

microscope, ils—
(1) Aperlure should be increassad
(2) The power ofa lens be increased

(3) The focal length of the lens be increased

(4) Size of the object be increased ‘ ’

Formation of a rainbow is the result of-
(1) Refraction of light

(2) Total internal reflection of liggiat

(3) Dispersion of light

(4) Refraction, lotal inlernal reflection
& dispersion of light

L]

(1) Depends upon the amount of electrolyle

Faraday conslant-

(2) depends on the current flowing through an
electrolyle

(3) Depends on the charge flowing through an

electrolyle

(4) Itis universal constant

. The transfer of heat from one place to anotherin a

room lakes place—
(1) By radiation
(2) By convection
(3) By conduction '

r.m.s. speed of the molecules of a gas js—

(4) None of the above

(1) Proportional lo absolute temp.
(2) Inversely proportional lo absolute temperature

(3) Proportional root of absolute

lemperalure

square

(4) Proportional to square of absolute lemperalure

=

According charles' law, at a given pressure—
(1) Density = temperalure
(2) Inertia « temperalure

(3) Velume of a given mass of a gas «

lemperature

(4) K.E. of a gas = volume
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Q. 41. The capacily of an accumulator is measarad in-

Q. 43.

Q.

Q.

. 42

45.

46.

(1) Ampere hour

(2) Wall

(3) Pascal _

(4) Ohm | I
The direclion of magnetic field al a point due lo

long. straight current carrying conductor can he
determined by—

(1) Ohm's law
(2) Joule's law

(3) Right hand thumb rule

.

A bar magnel is ieleased fron rest along ihe axis
of a very long, verlical copper tube. Afler some lime
the magnel-

(4) Pascal's law ‘

(1) Will stop in lhe tube

(2) Will move with almosl constant speed

]

(3) Will move with an acceleration ‘g’

(4) Will oscillate

. As he mass number increases, which quantity

does not change—
(1) Mass

(2) Volume

In which of the following decays the atomic num-
ber decreases-

(3) Densily
(4) Binding energy

(1) u-decay
(2) [-decay
(3) B-decay

[

On increasing the amplitlude of oscillation of a
simple pendulum. The time period will-

(4) None of the above

(1) Increases
(2) decreases

(3) Remains the same

(4) None of the above
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(1) 130 MeVv
(2) 931 MeV
(3) 1.6x 10"y
(4) 3wtaT A 9 @i A}

[

Q. 47. "Super conduclors” works al—

(1) Very high temperalure
(2) Room temperature

(3) Extremely low lemperalure

L]

Q. 48. The unil of radio acltivily is 'curie’, 1 curie
conlains—

(4) None of the above

(1) 3.7 % tor disintegrations/s
(fj 7.3 x 10" disintegrations/s

(3) 10™ disinlegrations/s

L ]

Q. 49. The filament of electric bulb is made up of—

(4) 10°disintegrations/s

(1) Copper
(2) Aluminium
(3) Iron

[ ]

(4) Tungston

Q. 50. 1 atomic mass unit is equal to-
(1) 138 MeV
(2) 931 MeV
(3) 1.6x 10"y

(4) None of the above

L]
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2e12i=1 feinen

CHEMI

vl encg et elfda s it
(1) sdaen

(2) daldrers

(@) Aol 5

(@) pedbnfPran I j
el e dde AR ERss A e opl
S I R TH AT
(1) - FPiesia

(2) e

(@ yeias i

(4) ole-geaolrasle e

L -

eineg ot e @ wiet gelacia adl
b

ty—

(1) ellefla
(2) wnfaly
(3) dsfeeray

(4) AR

. wep Farefla g (g e - 1) 7 dar

4
(1) R uléi=
(2) wiéfr  + =eiA

(3) =~yefa =+ gelagi=

(4) =gEi= + getagi + WighA

erop Aifsas @t Bewn @t HIq Eoryel Bt
ra

(1) 10~ m
(2) 10* m

(3) 107" m

(4) 10-'* m

STRY

Q. 1. Tha Lalin name af melal Antimony is
(1) Stebivum
(2) Kelium

(3) Argentium
\()‘/Anhmonnun _;I

Q. 2. A well stoppened Thermos flask contain hot
tea This is an example of -
om‘ascd systan

(2) Open syslem

(3) Isclated system
(4) Non-thermodynamic system | |

Q. 3. The melal
easily—

\Q’]ll_llhmm

(2) Sodium

which gives pholo eleclion most

(3) Calcium

(4) Caesium

Q. 4. A neulral
of —

(1) Only Proton

alam (Alomic No. > 1) consist

(2) Proton + Neutron

(3) Neutron + Eleclron

V(J)/Neulron + Eleclron + Proton

Q. 5. The radius of Atomic nucleus is of the order
of—

(1) 102 m

10— m

(3) 10" m

(4) 10""m
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g2 6.

g 7.

u+ 8.

ges 9.

Pr=feRaa & 9 @l ar s agier 2—

(1) selagtr aen W2t g araer @ #pE
vy famdler aepfer w5t st 1

(2) =i uv atd anaer &l st

(3) solaei=T aen Qe o aermE T 2lar
2

(4) ~IEfT der Wei @ aw@r-

HIA GloOTHT AT alar 21

EXBIE & arewl eul & gl gater @ar
qfRvisr en—

(1) gerE aen Jo1f v wafea &

(2) et s & s seafenT
a2

@) =t fres A srevd aw R 2@ &)

(4) = & EHEUA a1 AU
aA w0 A WA & e

Horflor a1 wenry] foreet awnog e 25
aren oY) geHiE 55 2, & Anfies A g

(1) 55 Ulei=
(2) 55 =ggi=
(3) 25 =g
(4) 25 9ref

s
‘N @ W setagral @ rftrsan diwar wdt
3

(1) 18

(2) 32

(3) 2 .

(4) 8

gt 10. 2 Caem "IN @) Rz avfl 3 e o wasar

-
(1) myiR®

(2) g

(3) wroreenfias

(4) amsvtgetagii-n

Q. 6. Which of the following statement is incorrect—

(1) Charge on an electron and proton are equal
and opposite 17

(2) Neutron has no charge, 7

\'(zﬂélectmn and Proton have same mass.

(4) The mass of Neulron and

Proton are nearly identical.
Q. 7. Rutherford alpha particle scaltering experiment
led fo the conclusion, thal—
(1) Mass and energy are related.

uz( Eleclron occupy space near fo nucleus
randomly.

(3) Neutrons are burried deep in the nucleus},_/}

(4) The poinl of impact with 4
matter can delermined precisely.

Q. 8. An atom of Mn, atoemic number 25 and atomic

mass 55 contains in its nucleus—
(1) 55 Protons
(2) 55 Neutrons

(3) 25 Neulrons

\/('6 25 Prolons

Q. 9. Maximum number of electrons presentin ‘N’ shell
is—

(1) 18
(2) 32
(3) 2

e

Q. 10. ' C and ' N may be classified as—

J""/ |sobars

(2) Isotones

(3) Isotopes

(4) Isoelectronic




st 1. wdien el anldseniz ¢ 2wl ol areor f—

(1) =it andidne dann d
(2) =it deetect Al &

(3) “nfiics A drede i il oildt et

dler &1

weer 12, veinoll aqn @ valPerer wes wdl andt
N—
(1) eyl O ddla getadianb afl aland]
ol g

(@) ergglar & qeaug o
sedier sl sl

(2) e auerr fdemdlg &

(3) anea=er asb alda silereensy il <l ye
ety el &

(4) ana-er gl @) wieperr
A =1l Al ) viasarnd

utetl 13. <th @l qeten 7§ i@ dor veaca wildias @4 @
b1eur f—

(1) srssiorT anea-er @l 3
(2) faggear—tayer o

(3) 9Rer Faegelen 3r-cldsen |

(4) srsglor & sy o anal
airaert @l e |

weer 14, WifEe @l enfeares s @1 wrew f—
(1) 02 srREN asr Rizror
(2) Haer widit e adfome ala
(3) sctagi=1 @l Qe a1l

(4) %ﬁf%:zm.ﬂﬁ BT dhg
@l e it sufefer

g2+ 15. ag 3v) foread aeveneft aar smafas sra-er
Fuftera #—

(1) NH,CI
(2) N,O

(3) ccl,

(4) Cacl,

Q. 11. The main cause of lale discovary of neulron is—-

M{:u!mn is chargeless paiticle,

(2) Neulron Is highly unstable,
5

(3) Neulron in the nucleurs moves valy fasl.

(4) Hydrogen atom does not —__J
conlain neutron.

Q. 12. Statemenl regarding covalent hond is not trie is—

(1) The eleclrons are shared belween atoms. w

\){The bond is non-directional.

(3) The strenglh of the bond depends upon the

extenlt of overlapping. ¥

Q@ I'he high density of waler compared lo ice is due
lo—

(4) The bond farmed may or
may nol be polar.

(1) Hydrogen bonding interaction.
(2) dipale-dipole interaclion.

ﬁ/dipole induced dipole interactions.

L]

Q. 14. The metallic lusture exhibited by sodium is ex-
plained by—

lonic bond interaction in H,
molecule.

(1) Diffusion of sodium ions

J)j’ excitalion of free protons

(3) Oscillation of loose eleclrons

(4) existance of body centred
cubic structure of sodium.

Q. 15. Covalent and ionic bond present in the mole-
cule—

(1) NH, CI
(2) H,0

3) ccl,

W cacy,
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g 16. Al 7 smiws e v 3vm—
(1) fwias aen aaesis ag o 21
(2) REnien aur ager-ia ae siar &

(3) [&nies awen & awur aausias vedr &1

(4) Fenies wrear & aen gaeris
a@ ol &1

gest 17. vas anaef Rierre aa awar & o 3w
Ee®H] mr—
(1) P ux smee= afRafde wwar 2
“(2) Brar uv ar araRafder vear 21
(3) arT aren amreE amRafdea

(4) gerrefterar g 2l &

wes 18. orer @1 arflayor 2—
(1) v et aRad
(2) ves 3wTendt aRada
(3) ues ulesan Bras g aRads =t 8 e &)

(4) wrarafres sififesn &
ara g1 areft ufsa

gesi 19, Pr=faiRaa siffsen si—
NaOH + HCl — NaCl + H,0
AH = —57 1 KJ mol—!,
AH T 29

(1) =& @l sy

(2) Rreasr @t gen

(3) Frafor @t gem

(4) Wﬂ-ﬂa'mr @l 3w

oA 20. Rv a0 am uy ves Iasaolla wdrafes

aifdfesan o wpeneeen Reris—

(1) sifswt @t mafles wizar av Ppk
W 2|

(2) oot ves aifires+es adt wigar w3 Pl
asver 2

(3) sifte) @l e
aigar u fFrofv w1El asvarn

(4) arfifEsen @1 aifienaifors
ajor T&f 21

e

Q. 16. Addition of common sall to water will—

(1) Increase both ils freezing point and boiling
point.

(2) Decrease both freezing point and boiling point.

(3) Increase ils freezing point and decrease
boiling point.

(4) Decrease ils freezing point

and increase its baoiling point.

Q. 17. Anideal solutionis formed when ils componenls—
(1) have no volume change on mixing.
(2) have no heat change on mixing.

(3) have no volume as well as heal change.

(4) have high solubility.

Q. 18. Evaporalion of waler is—

(1) An exothermic change
(2) An endothermic change

(3) A process where no heat change occur

(4) A process accompanied by

chemical reaclion.

Q. 19. In the reaction—

NaOH + HCl— NaCl + H,0
A H=—57.1 KI mol—,
A H represent

(1) Heat of Combuslion
(2) Heat of Solution

ﬁﬂ-leal of Formation

. (4) Heal of Neutralization

Q. 20. The equilibrium constantin a reversible chemical
reaclion al a given temperalure—

(1)depends on initial concentralion of
reaclant.

(2) depend on concentration of one of the
reaclant.

(3) does nol depend on initial
concenlration of reaclants.

{4) is not a characleristic of
the reaction.

o
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el 22,

YyLel 23.

Y-l 24,

qes 25,

et an phielar N
(1) <7

(2) =7 31l - 8

(3) 8t 9ds dla

(4) =10

e S [read ¢ NEL GLHL

SRE) el lon—

(1) Bt anie sl epvaes

(2) b gias as] e

(3) srret o anay qlal il e
(@) =ir A sl e all aee
v Ivgar e elen i

(1) ol Ll ofl frenian ¥ W v uenhte

el &

(2) ot sl saven A K e el aeven
R
it

(3) Rreger ener uenfier ese=t we v w1
vl @l Gl &

(4) 13nrent aateet N aler e aes el 2 e
el onen &

Sl drd & e a) Riaad ~ngde b ez
o gatar oan & o) e o llen @
STt &1 FRADI B B— ’

(1) cifer eB1 DvEE

(2) eier <BT e

(3) gorefler werel @1 e

(4) wfeft a1 FurrE

tedlfies At aen gataafeifeas e if Heig
glar 8— '

(1) @r=i o swond R

(2) ar=it oF werafde

(3) dieaiffes W@ A weafe aenr
setacifeifes der 7 womdie |

(@) dteifrres A A wondifE awr
sotaciiefees et o aenafde

COON R

Q. 21. The ptlof hk.:ml i5—
(1) <7
M> fhut-<8
(3) belween 8 and 9

(4) =10

Q. 22. Acompound having formula NH, — Cl1, — COO#

may behave- -

(1) Only as an acid

(2) Only as a base
,jﬂ’f Holh an acid and base
(4) neither uuiti nor base

(. 23. An clectrolyle is one—

(1) which conduct elechric currentin any solvent.

~

(2) which conduct electric current in solid state

which is capable of ionisation hy passing
elecliic current.

(4) which dissociale into ions by dissolving in

walter.

Q. 24, When piece of copper wire is immersed in a so-
lution of silver nilrale, colour of solulion becomes
blue. This is due to—

(1) oxidation of copper
(2) reduction of copper
ﬂ formation of soluble complex

(4) Oxidation of silver.

Q. 25. The cathode in a galvanic cell and electrolytic cell
is—

(1) Megatively charged in both cases,
(2) Positively charged in both cases.

(3) Posilively charged in galvanic cell and
negatively charged in an electrolytic cell.

Negatively charged in galvanic cell but
posilively charged in an elecurolytic cell.
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wes 26. fgga amEeT & waer valw 03 @R ane)
aifiifesen glefl 2—

(1) 3n=flesvoy
(2) ara=a=

(3) Iyaaq

(4) ersgifeiiin

west 27, aifiifesan o srrer @14 & e siopai @t =Ean
anaenes Joif @) sad F—

(1) Referer goif
(2) a1ferar aorf
(3) awita gt

L]

(4) @l gaf
wesr 28. ¥Ferfien @1 anferesry Rear enr—
(1) &1t Aadver
(2) TEXwIs
(3) Sto Sto aTARET
(4) Azn et
"ed 29. gotael d—

(1) 0% o« — apur

(2) T p—pur
(3) vw EEgloa 3T
(4) wrsfigt=

wew 30.2¢, B aifas ux efbsft aifey aret =gy
anardt @t ard | gt @19 areft Rsar—

(1) Aerer

(2) Rraws= |

(3) Y=Atofea am
(4) K—getagf argor

w2 3. st Roaey o =5gfar sraeus & w3
yatar gtar 2—

(1) sreT

(2) s=EiRe

(3) I w1 AP
(4) Szl

Q. 26. During electrolysis reaction taking place at an-
ode is— ‘

(1) lonizalion

(2) Reduction

& Oxidation

(4) Hydrolysis

I

Q. 27. Minimum energy required for reacling molecules
to undergo a reaction is —

(1) Potential Energy
(2) Kinelic Energy
(3) Thermal Energy

‘(é‘f.’\clivaliun Energy

Q. 28. Radioactivity was discovered by—

MHenry Becquerel

(2) Rutherford

(3) J. J. Thomson

(4) Madam Curie

Q. 29. The electron is—
(1) An = — parlicle
(}f A [} — ray particle
(3) A hydrogenion |

(4) Posilron

Q. 30. 3%, nucleus is bombarded with a slow neutron. It
undergo—

(1) Fusion

\9/}(: ission

(3) Radioactive decay
-

(4) K-electron capture

Q. 31. The substance used as neulron absorber in a
nuclear reaclor—

(1) Water
(2) Deulerium

(3) Compound of uranium

A) Cadmium
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(1) fAelfsen

(2) Filder

(3) eiler
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(1) el
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(3) e

(4) il
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(1) ey Qs

(2) uRanug S

(3) w3l
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Frecger anacd el 5 elell #—

(1) 8 a@leror vldaai aen 7 aed
(2) 7 alleror vilderen cren 18 dved eaing

(3) 7 allRier i aen 7 aed e

(4) 8 afdrsr dlduai aen
8 aedd s

sprered wneofl aF [Rerer wad) seall eneg 8—
(1) wifsem
(2) wvendl

(3) hlceremy

(4) afiftrers

srreret aofl # et gmaet F and @ @ s
R TRHIY] STRTAT—

(1) Ereen &
(2) agar &

(3) wHT TEAr 2

(4) usel agen & [oe wear 2

18
Q.@ Catalysl used in hydrogenalion of vils is

(1) Palladiom : I

&Nit:kul B

(3) lron

Q. 33. Term catalysl was given by -

(1) Rutherford

J}(Huuillins

(3) Wohler

(4) Kolbe |:j

Q. 34. The basis of modern periodic law is —
»(‘(J Alomic number
< (2) Atomic size

(3) Alomiec volume
(4) Atomic mass | ars |

Q. 35. The long form of periodic lable consists of-—
(1) 8 Horizonlal rows and 7 veilical columns
{,2‘{? Horizontal rows and 18 verlical columns

3 . G .
(3) 7 Horizontal rows and 7 verlical columns

£

(4) B Horizontal rows and
8 vertical coluimns

Q. @ The lightest melal in periodic lable is—
(1) Sadium
(2) Mercury

(3) Calcium

@)/Glhium

Q. 37. In periodic table going from left to rightin a
period, lhe atomic volume —

A decreases
(2) increase

(3) remains lhe same

(4) first increases then decreases

°
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et 38. Rrega arract amevft o Rissfra fear—
(1) aer ez
(2) 1 aly

(3) A=zellws

(4) Muel

ae+ 39, MfE2 engg @) vww s 2—
(1) arer 3
(2) arg A vaa= wr A

(3) Frt & ey o

(4) veeplEar o

we 40:Al, O, g—
(1) 3=t anaarss
(2) FarflT amaszs

(3) TR 3meRIEE

(4) 3rrefkr anass

5T 41, wiofta wora A fiswr S amp @1 wpw
v Aol 2—

(1) &hmeentfra
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we 42, vefiiges & ada @) enam @i @ o
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Q. 38. Long form of periodic table was developed by—
(1) Lother Meyer
(2) Neil Bohr
(3) Mendeleev

\(’/Mosley

Q. 39. Sodium melal is stored under—

(1) Water

(2) Freelyin air

(})’Kerosene oil

(4) Alcohol

Q. 40. Al O, is—

d))/ Amphoteric Oxide

(2) Neutral Oxide

(3) Basic Oxide

(4) Acidic Oxide c

Q. 41. Magnesium is an importanl component of
. Biomolecule occurring extensively in living world
is—

(1) Haemoglobin

-\,[2‘)’ Chlorophyll

(3) Vitamin B-12

(4) ATP

Q. 42. Aluminium vessel should not be washed with
washing soda since—

(1) Washing soda is expensive,
(2) Washing soda is easily decomposed.

@/Washing soda reacts with Aluminium to form
insoluble aluminium oxide,

(4) Washing soda react with
Aluminium is form soluble
aluminales.




UL 43, "dley oot b o ; Q. 43. "Water glass" is—

| (1) e s Wil geien <ot Mﬂm}lhﬂl name of sodium silicate. | ‘
| I

” Ny | 5 ;.’| i vrfee] D)y, e
(2) et Bda wane bt asien il orer g (2) A specific form of glass to slore water only,
e 2 :

@) el Jl B (3) Hydratad farm of glass.
vafesf i ehie] e

(4) orellereer Wildgn | I _ ] (4) lydrated silica. ,:

uee 44, ardader aeilvgas @) si8-rennas & w3y Q. 44. Carbontetra chloiide is used as fire extinguisher

ueilor fdserr onar & geiilas— as—

(1) Belehl ofet=ii v (1) lls welling point is high

(2) e wieseienoll a-vp aonen i) m(fo:nouatenl bond

(3) GBI aerntich [dae ) (3) Its boiling point is low

(4) ae serersieller arop der it | (4) Itgivesin combustible vapoures ‘:

s

uesr 45, aenafas e A enfior ol 2 Q. 45. Chemically laughing gas is—

(1) N, O g ,Hﬂg 0

(2) NO (2) NO

(3) N.O, (3) N,O,

(4) N,0, (4) N,O, ‘:
uest 46, el IR01 qrFEse ) vieras A Q. 46. Composition of bleaching powder js—

(1) CaocCl, | \/14:3 o cl,

(2) CaOClI (2) CaoCl

(3) Ca (O Cl),. Ca Cl,. Ca(OH), . 2H,0 () Ca(OCl,.cacl,, Ca(OH), . 2H,0

(4) Ca (OH), i : (4) Ca (OH),
4 47. Aty wier of dar a— : Q. 47. Stainless steel contains—

(1) Fe + Cr+ Cu (1) Fe + Cr+ Cu

(2) Fe +C + Ni (2) Fe + C + Ni

(3) Fe + Cr+Ni (2)/Fe+Cr+Ni

(4) Fe + Ni+ Cu (4) Fe + Ni+ Cu
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g2+ 48. ger o JuRera erchw— Q. 48. Sugar present in milk js—

(1) Yt (1) Sucrose

(2) =Grelop (2) Maltose

‘)}}/[ aclose
(4) Vowailor D (4) Cellulose :,

W 49. a9 31ferens gvehmer Rear ST et saver)

(3) wlueks

Q. 49. The most widely used anlipyrelic is—
o
1) Salicylic acid
(1) AfaRfres arer 4 &
(2) Wty B (2) FPhenacelin
® YIHGT
(3) tafemifer \13)’ Paracetamol

(4) vRudls l | (4) Aspirin ’

YT 50. -8R aepr el & ayary gRlar Q. 50. An antibiolic used for treatment of bronchitis,
@t o1 areft vtaraifes 2 Pneumonia is—

1()) Penicillin

(2) Datalin

(1) eFfyferr
(2) srefer

(3) a=RaRifaes (3) Chloromycetic

(4) eernsferr [:] (4) Tetracycline l:
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el . MWA

(1) o o (2) DNA

C A e o
(2) :dlo vao (3) DNA & Mrotein

Il A d— .
LR (1) Clrcular

1) oNenbiy
(1) 9ile A (2) Linear

. ¥ - ¥ ;1,—"[ ll

(2) <Ml en 1 Msplml

3) @l

Gy ——x (4) At randam

(4) il uy r } { ~
- aredRpdl o elan & Q. 4. Meiosis lakes place in-—

(1) endifas ol A4 (1) Somnalic Cells

(2) ot @il 1 0 \(2/}66nn Cells

@) erdlRas a 1141 @b el 3 (3) Both Somatic Cells and Germ Cells

(4) Tﬂ‘u‘ﬁ&'f fedl oF afl sl [ .I (4) None of the above
- L i \ .
B 5 e M TR T e el don-b wsl uldsar Q. 5. Growing plants in nutrifive solution is called—

elell &—
SEEAR (1) Horliculture

(1) diféesoaz _
- M&Iydmpomcs

2) wrggialalas
(2) wrggivlE (3) Hydroculture

-{u‘[-u LR ':- - - 7 . -

(3) oo o uldley | ' (4) Protein ’

(4) el
P R R PR R TS o) a2 @ 2. Agroup of ribosome is callud

(1) el ey W Polysome

(2) uldl-l (2) Praotein

(3) ulell -c‘l:'.*ﬂu'._]'l*lt-lillhtia'.:'. .(3) Poly l'llumm;iﬁuliite

() ol lamaeiieigsal-efldersleng:: | ! (4) Poly deoxyribonueleotide | ’
oo Canbanten i) de gae ol e1l-] Q. 3. Arrangement of gene on chromosoine is—

(3) Ergglaeay

(4) None

(4) @oid oft et

wlasraft diel s wesr @l gl 4 o1d — Q. 6. Insectivorous plants usually grow on—

(1) uich=r egaer o (1) Protein rich soil
(2) =irgeter wt wHt araft e \@/Nitrogen deficient soil
3) o @ gl e (Feh) (3) Dry and warm soil

(4) @t oft =t l (4) None of the above
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7. Which one of the following is called vascular
cryplogams—
(1) Algae
(2) Fungi o

(3) Bryophytes
L(I/{F’leridophyles

Q. 8. Fruit'is absent in—

L]

(1) Rose
(2) Mango
{3) Sunfiower

L]

Q. 9. The process of injestion of a liquid droplet by
Plasma membrane is called—

Cycas

(1) Phagocytosis

V(Z)' Pinocytosis

(3) Lysis

[ ]

(4) Autolysis

Q. 10. Chromosomes are stained with—
(1) Safranin .
(2) Hematoxylin
(3) Eosin

(4) Acetocarmin

[ ]

Q. 11. Term hormone was given by—
(1) Thiman |
(2) Khog
(3) Starling
(4) Went

[ ]

Q. 12. Which one isa(non—symbioti@i_tf;ﬂuug_uﬂm

fixing bacteria—
————————a

(1) Rbizobium
ﬂﬁo-bacler
(3) Nitrosomonas

(4) Nilro-bacter



)

Y ELE T 1 P o e B T R A P T STt (0 M (6 (BT EL S

1 -
(1) aila
(2) eldal

(3) Ve

@ o |

yeat 14, gyler-r [t i deedl &
(1) walla) el
(2) wraleagahe
(3) letlns
(4) Wil l l

quer 45, arer-etrer aiell @ @Sl @) e @
e fRe-neidra A @l e -

o1y werndl Fdl
(2) tetloail {decl]

(3) Fazeleras findl

(4) e elfc
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gest 17, wes oy aarEl, on vas anld & @Rt wiferer
faparr wrrerm & erenr on gl onfer @t i @l
Aepar &, I @ &+

(4) wrai=1

(1) ol
(2) it
(3) velarenfeas

[ ]

(4) velepraofele
qest 18. =nftee @t urHt gtdar 8—
(1) Yo
(2) vatert
(3) et

(4) AfResrd
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Q. 13. Which ane of the following plant productis respon-
sible to form Rubhber—

(1) Guins
\}%’l atex

(3) Resin

(4) Bark

Q1. 14. Insulin 1s a kind of storage—
(1) Amino acid
ﬂf:.nbuhymulu
(3) Lipid
(4) Mrotein
Q. 15. Which one acls as cemenling material belween
two adjacent cells—
(1) Primary Wall
(2) Plasma Meambrane
:(3} Secondary Wall

\bﬂ'JMfddie lamella l _]

Q. 16. Lysosomes are reservoir of -
(1) Fat
J}}/l fydrolylic enzymes
(3-} Sacrelory glycoproleins

(4) Hormones

Q. 17. A substance which is produced by one species
and Ihal inhibils the growth of other species is—

(1) Antigen
(2) Antiseplic

RES Antibiotic

(4) Anlicoagulant

Q. 18. The milk of coconut fruit is—
(1) Embryo

J,?)/ Endosperm

(3) Colyledon

(4) Pericarp
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Q. 19. Sieve lubes are found in—

(1) Xylene

\{?/}thnr-tm

(3) Cambium

Q. 20. The mechanical propeities of scalenelyma are due

(4) Merislem

lo—
(1) Suberin
(2) Cutin

(3) Cellulose
'M/Lignin l ]

Q. 21. Alternate light and dark bands and unbranched
fibres are found in—

1Y Striped Muscles
(2) Unstriped Muscles

(3) Cardiac Muscles

L]

Q. 22. Blood group ‘0’ is universal donor because—

(4) Connective Tissue

(1) It has bolh types of anfigen

J}‘/ll has no antigen

(3) It can form the anlibody

L]

Q. 23. Preservation of wild life Is necessary for—

(4) None of the above

(1) Scientific reasons
(2) Asthetic reasons

(3) Economic reasons

M All of the above ! l

Q. 24. Al round worms differ from flat worms in having—
(1) Longitudinal nerve cord
(2) Segmented body

\Q)/Pseuducoel

(4) Blood in the circulatory system

[ ]
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Q. 25. Which of the following is tiploblastic —

(1) Paorfera

(2) Coclanlerala

v(d‘ fAnnelida

(4) Protozoa |

Q. 26. One of the following Poikilothermal—
(1) Whale
(2) Camel

(3) Pigeon

Q. 27. If fresh waler amoeba is kept in sea water, its
conlraclile vacuole—

MCraasu in size
(2) Decrease in size
(3) Remains as it is

(4) Decrease in size & finally disappears

Q. 28. The thin walled parenchymalous cells having
chloroplast constitutes—

(1) Collenchyma

\B]/Cllloranchynla

(3) Aerenchyma

]

Q. 29. The cenlral body cavily known as coelenteron is
present in—

(4) Prosenchyma

(1) Cutllle fish

(2) Sucker fish

\2f Jelly fish

(4) Star fish

[

Q. 30. Cne of the following is a fish—

@' Cray fish
LY

(2) Silver fish

(3) Jelly fish

\}ﬁ‘)/Fiying fish

[



9= 31, vas iRl @) Aol i ma el el
3 _ >

(1) @MWt Breft & Rresre o feae

(@) @BIReEral @ amowr A se F R

(3) st <iedthor A f - e
(4) aeRIfser weataur & o 1 1

r"ﬂ:fftl‘diﬂ?l L pl=-ar Gﬂ?—" IR
(a1e1er) 2—

e« 32,

Fes
uaf (7t

(1) arsdasT MR =
(2) wigen oelalar -

Q) vfwr gfzamr - omm
(4) SFrar S - s C]

U ey B get oinefl @—
(1) ERmenalng & s

U 33,

(2) arerazTRIROr
(3) arer gy

(4) setaemaRT l:

ﬂﬂaﬂa%—rrx}"mtaﬂmaen%ﬁﬁﬁ

ua 34.
die) iores (miResion) 7 aret SITel, BEeT
¥
(1) Bz
(2) wrebRaet

(3) Ewilgs

(4) bR} ‘:]

U @t Forf @1 ol He A aaeTl
BT IWET HWAET Blar 2—

o= 35.

(1) votHorfto
(2) Uﬁ%}ﬂfﬂo
(3) modlotflo

{4) votflatft

L]

w36, kol Fews 7 gt st ara e Yot e

Bl #—
(1) senRea @

(2) oarfetest Yot
(3) @tetarT Yor
(4) #rRIRE

o B

27

Q. 31. A plant requires Magnesium for—
(1) Cellwall development
(2) Holding cells together

(3) Protein synihesis

Mf,'hhm}phyu synthesis l ’

Q. 32. Which one of the following pairs is mis-

malched —
(1) Bombyx Mori - Silk
(2) Pila globosa — Pearl
(3) Apis indica - Honeyv
vw(Kenia lacea — Lac -. D

Q. 33. A plani cell becomes turgid due to—
(1) Plasmolysis
Q/Endosmosfs
(3) Exlosmosis

(4) Eleclrolysis

]

Q. 34. Organisms lacking Nucleus and Membrane bound
organelles are—

(1) Diploids
Prokaryoles

(3) Haploids

(4) Eukaryotes

L]

Q. 35. The Radiant energy of Sunlight is converted to
Chemical energy and stored as—

(1) AMP
(2) ADP

2 e

(4) APP

[ ]

Q. 36. White fibres of connective lissue are made up
of—

(1) Elastin
(2) Reticular fibre
Collagen

[ ]

(4) Myosin
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Q. 37. Fluid part of bload after removal of colpusclis

U)’{’Iasma

(2) Lymph

(3) Serum

(4) Vaccine

i
L]

Q. 38. Spramis causcd by excessive pulling of-—

(1) Newves

M lendans

(3) Muscles

(4) Ligamenl

Q. 39. In platyhelminthes, the excreloty organs are-——

(1) Nephridia

(2) Malpighian lubules

mmme cells

(4) Green gland

]

Q. 40. “Venus flower baskel” is the skeleton of—

(1) Euspongia

(2) Euplectella

b[})/Spongilla

(4) All of lhe above

L]

Q. 41. The algal partner of a lichen is called—

(1) Mycobiont

(2) Phycobiont

\/‘Aﬁ of lhe above

(4) None of the above

o

Q. 42. Among the following an infectious disease is—

(1) Diabetes
(2) Kwashiorkar

(3) Hypertension

\{ﬂ( Diptheria
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Q. 43. Plants growing in shady places are called—
(1) Heliophytes
(2) Hydrophytes
(3)Sciophytes

[ ]

(4) Day neutral plants

Q. 44. Rotation of crop is essential for—
(1) Gelling different types of crops
(2) Increasing qualily of minerals
(3) Increasing quality of protein

\y{lncreasing fertility of soil

B

Q. 45. inland fisheries js referred to—
(1) Extraction of oil from fishes
(2) Deep sea fisheries

(3) Trapping and capluring fishes from sea coast

L]

Q. 46, Congenilal diseases are those which— 5

‘_(ﬂ( Culturing fish in fresh water

vf‘f{ﬁue present from time of birth
" (2) Are deficiency disease
(3) Are spread from man to man

(4) Occur during lifetime

[ ]

Q. 47. Fever, delirium, slow pulse, abdominal lendemess
and rose coloured rash indicate the
disease—

(1) Typhoid
(2) Measles

(3) Tetanus

\}a( Chicken Pox

Q. 48. Vascular bundles are radial in—

[ ]

(1) Rools

\12( Stem

(3) Monocot stem
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Q. 49. ‘Cocod', a populi buverage is oblained from
(1) leat

(2) Flowes

i =2

Q. 50. A self propagating cytoplasmic body prese u[ in

animal cells & absent in plant cells is-
(1) Nucleus \)0

(2) Mitochondria )o

|9\/(:m1tm:m|m.-

(4) None of the above [ J

W
[
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Part-1V

74
2 ' then the value of x* will be:

Iy L
e A4, AfE x=2" 420 2 @l « @1 mE gl
(1) 6+ 6Gx
(2) 8

(3) 6
(4) Bx

werm 2. ufd x+ =4, X —x2+ U, —ﬁ"!,, @1 1A
glor :
(1) 64
(2) 48
(3) 38

(4) 0

ged 3. B! B UT (1.1 — (0.7 — (0.4)* &1 |r=1 & ¢
(17 0
(2) 0.924
(3) 1.174

(4) 8.8

yes 4. ¥¥er B U (a?—b?) + (0P — ) +(@—a?)
(a—by +({—c) +(c—a)

&I AT BT ¢

(1) 0

(2) 3(a +b) (b +c) (c+a)
(3) 3(a—b) (b—c) (c —a)

(4) @+b)(b+c)(c+a)

gest 5. 0.83x0.83 x0.83 +0.17 * 0.17 >x 0.17
0.83x0.83—0.83x0.17+017 x0.17

WA &
Mo

(2) 1

(3) {0..83—0.1?}3

(4) 0.83 +0.83 x 0.17

yed 6. ufg agual x*+2x2 —Sax—7 an
X+ ax? — 12x + 6 W) DAL x + 1 den x—2 7

RrnfSter @% a3 R, aen R, €lw urer &l &)
aft R, — R, =02 @l a @1 A1 &or

(1'} — 4
(2) —1 »
(3) 13

(4) —13

L& F 11

Q 2

{2) 3(a +b) (b +¢) (c +a)

(1) G v fix
(2) 8
(3) 6
(4) Gx

If x+' =4 then the value of »*— x* + Ys—Y2
will be :

(1) 64

(2) 48

(3) 38

(4) 0

- Onevaluating (1.1)' —(0.7)> — (0.4)® we get :

(10
(2) 0.924
(3) 1.174
(4) 8.8

. On simplifying (a* —b?)* + (b? — &) +(—a?)?

@—b)’ +(b—c) +(c—a)
will be : TR
2a - D
(1) 0
3
(3) 3(a—b) (b—c) (c —a)

(4) (a+b)(b+c)(c+a)

. 0B3x083x0.83+0.17x0.17%x0.17

0.83*x0.83 —0.83x 017 +0.17 x Q.57

3 i
we get: (3@3)'3 r (IT)
(1) 0 P
(2) 1 v (~

(3) (0.83 — 0.17)°
(4) 0.83 + 0.83 x 0.17

. IFR  and R, are the remainders when polynomi-

als x* + 2x* —Bax—T7and X +a —12x+ 86
are devided by x+1and x—2 respeclively. If
R,—R, = 0, then value of a is :

(1) —4
2 —1
(3) 13

(4) —13
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100"
G D

ZAEC tls.r E i

(1) 140°

(2) 120°

(3) 100°

]

(4) 20°

yee 10. A ABC & aieny wlor ZB aui 20 &b

Hafaanoras 135° a1 alvr a-ied b ol 2A @r
T B9

(1) 45°

(2) 82.5°

(3) 90°

(4) s ¥ ol el

ueqd 11. & ABC @l wnfesesr AD & qenr A ABD @l

nifteresT DE & | af A ABC @1 gttt 40 erof
HoHlo & @ A BDE @1 iawer glom :

(1) 13.33 aof Aofio
(2) 20 @of Foiffo
(3) 10 aof Roufto
(4) 5= ¥ @l el
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Q. 7.

Q.

s 9,

.10,

1.

B. Ifl =2, =
X

If x,y, zare posilive real numbers, then the value
of Vx 'y \’y 2. Nz 'x will be :

ﬂx 4
e |

3.:{ = 4lhenvalieof & +y 2 42 4

(1) xye

(2) x'y e
()1

(4) 0

y

15

M ()"

(2) Ha) !

3 (z3) "

@ 25

In the flgure, ABICD,
Z1C8 = 100"

A B3
1207 '

-

ZEAD = 1200

100*
C D

The value of ZAEC s :
(1) 140°
(2) 120°
(3) 100"
(4) 20°

The biseclors of the base angles ZB and ZC of
a & ABC enclosean angleof 135%, then ZA will
be :

(1) 45
(2) 62 5°
(3) 90°

(4) None of Ihese.

ADis a median of A ABC and DE is median
AABD.  If ar (A ABC) = 40cm®  lhen the
ar (A BDE) will be :

(_‘I} 13.33 cm?
(2) 20 em?

(3) 10 cm?

(4) None of these
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¥ wem R wwen X aen Y Bl ACYX @
AFTsE BT

4 Mo (ABCD)

s

(1
(2) Y &l (ABCI)

(@) 3 ale (ABCD)

(4) 3 &o (ABCD)

gee 43, T agefot ABCD i AE -L-DC @en
cF-L AD &1 aif AB =16 Horflo; AE =8 Woilla

o CF = 103 #flo & @ AD a1 #i=T 81911 :
(1) 12.8 ¥fo Hlo
(2) 20 Fo Hlo
(3) 18 Fo o
(4) 5o Hlo
west 14. 3mpfr 3, OCDE 3R & fart 10 Mo Hlo

foe & ga & we agealer 7 awEr o &
afe OE =25 Fo 3o & @ Ay &I Pk Lerd|

o7 =

==
|
|
]

S

E D

Al
LS

(1) 20 V5 @of Forfle
(2) 20 @=f Holle
(3) 40 @t Hoflo

(4) 405 @of orflo

qe=1 15. amgfer # < wep=T g 2 foramr 0= 21
Y La) gal @t A, B, Casm D fr=gart ux
afrede weet &1 afi AD = 14 Horfle el
BC = 10 Rorflo B @l AB @1 7T E1IT -

o
el

LA e~ M £ /0

(1) 2 lofte

(2) 4 Zolle
(3) 5 Holle
(4) 7 foillo

33

Q. 14.

Q. 12. ABCD is a parallelogram X and Y are the mid ponts
of BGC and CD respeclively then ar (A CYX) will
be .
(1) ¥ ar (ABCD)
(2) Y4 #r (ABCD)
(3) » ar (ABCD)

In a parallelogram ABCD, AE L pc and

cF-L AD. If AB =16cm., AE=8cm. and
CF = 10 cm, then AD will be :

(4) 3 ar (ABCD)

Q. 13.

(1) 12.8 cm.
(2) 20 cm.
(3) 18 cm.

(4) 5cm.

In the fig. OCDE is a reclangle inémibed in
a guadrent of a circle of radius 10cm. If

OE = 25 , then area of rectangle is :

-~
I g
] -~
i S
E ~D
A\
\
\
\
\
ey
Q G

(1) 20 5 cnv?
(2) 20 cm®
¥3) 40 cm?

(4) 40v5 cm?

Two concentric circle with centre O have A, B, C,
D as points of intersection with line L as shown
infig. If AD =14cm. BC= 10 cm., the AB will

be :

Q. 15.

N

e
|
L%AMD ‘

(1) 2em

(2) 4 cm

(3) 5 cm

(4) 7cm
145 (Sec)—G.S.M.—33
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by cfel <b Btectolel ely wiate L agor d-nei
oretn & (Ad el g el ke gl
d:l ‘.i_lul] i) \'IIHJ“‘I fid nI] |‘|'l$ ol PRI l"-l_“ '

(1) 9 loaflo
(2) 4.5 oillo

(3) 33 ol

@) 3 Qoille [

Aineplen O, O qger apr dieg & ZOAL - 200 a2
SO6GB =55 3 -

—

4

ZBOC s - alon

(1) 55" [

X4 § t
2) 70° = =
(3 75"

{(4) 95"

sipfen o¥, O g wr g & >

ZCBD @m0 & s

(1) 100°
(2) 75°
(3) 50°
(4) 80°°
atrgster i O et st g ® Tl ACBO HHT=Y

o 21

\’/

X T AT & ¢ [
(1) 90°

(2) 2Y

(3) 180—Y

(4) 120°

| x9x 9
-- By Z7
H’ B 3’1\'—):,

7 _
! Mn equilateral iiangle of side 9 e, iy inscribed

in a circle the radius of ciicle is :
(1) 9cm

(2) 4.5 6.
(3) 33 e,

(4) 3 cm.

Q. 17, Inthe fig. O is centra of circle ZOAI = 20 and
2008 = b5

then the /BOC will be - C

(1) 55"

\}2{700

(3) 75¢

(4) 95°

Q. 18. In the fig., O is centre of circle

ZCBD is .
(1) 100°

(2) 75°

\(}/50“

(4) 80°

Q. 19. In the fig. O is centre of circle and ACBO is
parallelogram

Value of Xis : C
(1) 90°

(2) 2Y

(3) 180—Y

(4) 120°

145 (Sec)—G.S.M.—34



HET 20, U Ay e o araw, st my
35 HWorfto x 20 FHoifla 2 F Ul G5 i 5

Iay

Horfle yor w5} Faf BT arar A o)y
Wt U TR wy e a1 ey G o W
3ITEr=T gIolr

(1) 1250 171 Worfle
(2) 2250 171 Fforflo
(3) 3000 =1 Forfto

(4) &3 1wk =1

B

AT 21. U5 arlgames s em iR, et ey
28 Hotflo; @Y vas wget @y 3 MBI F Wy
4 e o 1 g3 @y wt oTErE R

(1) 14 Fosfto
(2) 143 ¥orfto
(3) 7 Horto

(4) 743 ¥orflo

s

W 22, Bt gapoff o) @G w7 ¥ wrafien s
IR A—
29, 32,48,50, X, X + 2. 72,7884, 95 71fY o)

ETBT 63 & &t X asy Ay -
(1) 61
(2) 62
('3) 63

(4) 65 *

B

n gl @7 Wrem o
o :

ues 23, ufe X X0 X, B
&al T (X —%) @1

5%
(2) n 3" i
(3) 1

[ ]

(4) O

(8
151

Q. 20,

Q. 21.

Q. 22,

Q. 23.

Ametalic sheet of the rectangular shape with di.
mensions 35 em, x 20 ¢m. from each one of its
tomers, a square of 5 ¢m, is cut-off and upen
box is made of remaining sheet The volume of

this box js -
(1) 1250 ¢
(2) 2250 cmp?

(3) 3000 ey

]

A semi-circular sheet of metal of diameter 28 ¢m

(4) None of lhese

is bentinlo on open conical cup. The depth of the

cupis:
(1) 14 cm,

(2) 14¥3em.

(3) 7 ecm.

(4) 73 em

=N

The following observations have been arranged

in ascending order,
29, 32, 48, 50, X, X+2 72, 78, B4, 95 |f
median of the data is B3, then the value of X is:

(1) 61
(2) 62
(3) 83

(4) 65

e el

If X is the mean of n observations Xyv X,
n
Xy X than value of (% —%) will be -

h
élﬁ(‘_éi—

(1) Z X

@ 1 = xi o -
®) 1 (XL‘Z;')*C"(; B k)
— = . e



yiel 24.

yiel 25.

afd 10 qaro o apver 61,4 aeli et 63 &

b @or Dl ebn el ol

(1) 63

(2) 646

(3) 66.2

]

sfdpess udlan o o fenenell @i yitetial <l

(4) 62.2

afzrera =) walar o &
gl adlae -0 VoV
gy % 58 63 62 59 89
(rerelf g @sar Q) dsdr B0% i Wikl P

il witdEsen

—
e
LE
+

@ 3

4
) ;

G.S.M—36

36

Q. 24.

Q. 25.

If mean of 10 observalions is 61.4 and madian is

63 then the mode will be :

(1) 63

(2) 64.6

(3) 66.2

(4) 62.2

The percentage of marks obtained by a student
iy the monthly unil lests are given helow
Unittest 1 1L 0 IV V

58 63 62 59 08

The probability that the student gets atleast 60%

% marks

marks Is :
(1Y 0
oy =2
(2} %

@ 3

B

o,

7 \‘:\'}._,I



